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(b) Few-shot-CoT

Q: Roger has 5 tennis balls. He buys 2 more cans of tennis
balls. Each can has 3 tennis balls. How many tennis balls does
he have now?

A: The answer is 11

Q: Ajuggler can juggle 16 balls. Half of the balls are golf balls,

and half of the golf balls are blue. How many blue golf balls are
there?
A:

@: Roger has 5 tennis balls, He buys 2 more cans of |emﬁ
balls. Each can has 3 tennis balls. How many tennis bals does |
he have now?

A: Roger started with 5 balls. 2 cans of 3 tennis balls each is 6
tennis balls. 5+ 6 = 11. The answer is 11

Q: A juggler can juggle 16 balls. Half of the balls are goff balls,
and half of the golf balls are blue. How many blue golf balls are
there?

A

(Output) The answer is 8. X

/

(Output) The juggler can juggle 16 balls. Half of the balls are goif
balis. So there are 16 / 2 = 8 golf balls. Half of the golf balls are |
blue. So there are 8/ 2 = 4 blue golf balis. The answeris 4. //

(c) Zero-shot

/@: Ajuggler can juggle 16 balls. Half of the balls are gof balls,\
and half of the golf balls are blue. How many blue golf balls are
there?

A:The answer (arabic numerals) is

(d) Zero-shot-CoT (Ours)

Q: Ajuggler can juggle 16 balls. Half of the balls are golf balls,
and naw of the golf balls are blue. How many blue golf balls are
there’

A Lela think step by step.

(Output) 8 X

(Output) There are 16 balls in total. Half of the balls are goif
balis. That means that there are 8 golf balls. Half of the golf balls
are blue. That means that there are 4 blue golf balls. /
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*x"2 + b*x + ¢ (a, b, cis constant /a = 0)

‘s think step by step.

To solve the equation y = ax*2 + bx + ¢, we can use the quadratic formula, which givesusthe (5 (7

solutions to any quadratic equation in the form ax"2 + bx + ¢ = 0. However, in this case, we

are not trying to solve for x, but for y. So, instead, we can use the following steps:

1. First, let's complete the square to get the equation in vertex form. To do this, we can

rewrite the equation as:
y=a(x"2 + (b/a)x) +c
y=a(x"2 + (b/a)x + (b/2a)"2 - (b/2a)"2) + ¢
y=a(x + b/2a)"2- (b"2- 4ac)/4a

2. Now we have the equation in vertex form, y = a(x-h)"2 + k, where h=-b/2aand k= -(b"2 -

4ac)/4a. This form of the equation tells us the coordinates of the vertex of the parabola,

which is the lowest point if a > 0 or the highest point if a < O,
3. To find the x-intercepts (where y = 0), we can set y = 0 in the equation and solve for x

using the quadratic formula:
O=ax"2+bx+c
x=(-b + sqrt(b*2 - 4ac)) / 2a

1. Similarly, to find the y-intercept (where x = 0), we can set x = 0 in the equation and solve

fory:
y=a*0)"2+b*0) +¢c
y=c
Therefore, the y-intercept is (0, c).

In summary, to solve the equation y = ax*2 + bx ++ ¢, we can complete the square to get the

equation in vertex form, which tells us the vertex of the parabola. Then, we can use the

quadratic formula to find the x-intercepts, and we can set x =0 to find the y-intercept.
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